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Roll. No. (in Figures)
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OMR Answer Sheet No.

Booklet No.

100456

B.A./B.Sc. (Part-I) Examination, 2018

Time : Two Hours |

Booklet Code COMPUTER APPLICATION
W Paper : II
(Programming in Basic and Pascal)

[ Maximum Marks : 50

Important Note : Please read instructions carefully printed on the back of OMR sheet.
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Note : Attempt all Questions. Each

question carries equal marks.

1. Q BASIC runs on mainiy:
(A) DOS
(B) Mac OS
(C) Both (A) and (B)
(D) None of these

2. Q BASIC stand for:
(A) Quick BASIC
(B) Queen BASIC
(C) Both (A) and (B)
(D) None of these

3. Q BASIC is develop by:
(A) IBM
(B) Motorola
(C) Microsoft
(D) None of these

e : g 1 Sifard € IS T & 3

TAE 2

Q BASIC &id: W derl &
(A) 9 (DOS)

(B) #% 30w (Mac OS)
(C) @Fl (A) & (B)

(D) & A ®IS T

Q BASIC ®Ug B

(A) Quick BASIC

(B) Queen BASIC

(C) @i (A) T (B)

(D) g1 ¥ BIS el

Q BASIC fasRma fear mar-
(A) 1BM

(B) ARG

(C) wIgHrAT

(D) s=H ¥ @ A
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Main features of GWBASIC is:
(A) Fully seif contained executable
(B) Does not need the ROM Basic
(C) Does not suitable for game
(D) Both (A) and (B)
Key word are used for data ma-
nipulation in BASIC:
(A) LET
(B) DATA
(C) AUTO
(D) Both (A) and (B)
Display all input code in BASIC by
(A) UsT
(B) READ
*(C) PRINT
(D) AT
Display a message on the screen
in BASIC by:
(A) PRINT
(B) WRITE
(C) DEF FN
(D) TAB
Which are list of functions in BASIC
(A) ATN
(B) RND
(C) TAN
(D) All of the above

548/wW

4,

6.

[2]

GWBASIC 3 71 feee -

(A) T a8 ¥ ¥ew T Ay
(B) ¥yd ROM & Fere 7 &
(C) T & for Suge =& &

(D) @FI (A) & (B)

AR A o1 ANigere & foe Pad 3vanr
fmar mar &-

(A) LET

(B) DATA

(C) AUTO

(D) @ (A) @ (B)

afes # Wil $Ig Bre @ SR aRy

.
(A) UST

(B) READ

(C) PRINT

(D) AT

df® g1 WA W v Wy wefdfa faar
ST &-

(A) PRINT

(B) WRITE

(C) DEF FN

(D) TAB

i 4R § e A R A &
(A) ATN

(B) RND

(C) TAN

(D) IR G
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12.
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Which are not list of function in BA- 9,

SIC:

(A) REM

(B) USR

(C) TROFF

(D) None of these

String is represented in BASIC: 10
(A) Single quotes

(B) Double quotes

(C) Both (A) and (B)

(D) None of these
Arrays in BAs5I0 could contain: 11
(A) Integer

(B) Floating point

(C) String variable

(D) All the above

used to perform compari- 12,

son or make decision in BASIC:
(A) If

(B) If -- Then

(C) If -- Then -- Else

(D) All the above

548/W 3]

3 AR ¥ dwee & o F W &
(A) REM
(B) USR

(C) TROFF

(D) None of these

. T&n aRew & ol et &

(A) Rifier Prew
(B) 3&d ®ITH
(C) @Fi (A) @ (B)
(D) & ¥ o§ T

. s A R e & aa &

(A) 3hesR

(B) wfén dfge

(€) Rgn Hefea

(D) IR |

R # qeeT e o Prefa ot & R
_____ 3uam fm S &

(A) If |

(B) If -- Then

(C) If -- Then -- Else

(D) 3R Il

P.T.O.
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13. - wﬁﬁmmm’rqﬁs#w
2, o5 B P o & 9@ 95 9

13. jumps to a numbered or

L

labelled line, execute the code it finds

Wod duIjuonejuI MMM //:sdiy

there until it reaches a RETURN Re awrs a0 78 TEaa g
command: (A) GOTO
(A) GOTO
(B) GOSUB (B) GOSUB
(C) Both (A) and (B) (C) 3 (A) & (B)
(D) None of these (D) & A B &I
14. DIM statement specify: 14. DIM Reaw e oar &

(A) Maximum value of array sub-
scripts

(B) Allocate storage

(C) Both (A) and (B)

(D) None of these

(A) et sufefe &1 sftiasaw am
(B) H&eH HEROT

(C) 2t (A) wd (B)

(D) 394 & g 7l

15. Program file command in BASIC: *15. afe® d WU wEd s
(A) SAVE (A) SAVE
(B) LOAD (B) LOAD
(C) RUN (C) RUN
(D) All the above (D) IR gt
16. Data file command in BASIC pro- 16. sfes Wi & Ser wRa Fuwe &
gramming is: (A) NAME
(A) NAME
(B) KILL
(B) KILL
(C) OPEN
(C) OPEN
(D) None of these (D) 7 & @i =&

548/w
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GW BASIC program can work with

which types of data files:

(A) Sequential file

(B) Random access file

(C) Index access

(D) Both (A) and (B)

Array is collection of:

(A) Similar data type

(B) Different data type

(C) Group of numeric or string
variables under a single name

(D) Both {A) and (B)

Graphics uses ----- windows in BA-

SIC programming:

(A) Physical window

(B) Logical window

(C) Viewport

(D) Both (A) and (B)

BASIC user use ---- types of coor-

dinate systeml:

(A) 2

(B) 3

(C) 4

(D) None of these

548/W

17. GW BASIC MU 59 YR & 321 e

18.

19.

20.

& Y B FRT &
(A) IR T
(8) %7 ¥ wRE
(C) F=¢9 wrgel
(D) @i (A) & (B)
R B HUE &
(A) WIS 2T e180
(B) 39N 1 139
(C) vas wE a1 fEn Hvfdw &
TS 9 & dgd
(D) &t (A) T (B)

(D) <t (A) wF (B)

s FrdnTasa ---- TR & THD ST
I FHRAT -

(A) 2

(B) 3

(C) 4

(D) 4} B T

P.T.O.
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23.

24,

25.
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Sound generation facilities is done

by the command in BASIC pro-

gramming:

(A) SOUND

(B) PLAY

(C) Both (A) and (B)

(D) None of these

Mathematical function in BASIC:

(A) SIN

(B) COSs

(C) TAN

(D) All the above

Which of the following operators

takes only integer operand?

(A) +

(B) *

(C) 7/

(D) % .

In a forloop, it condition is missiong,

then:

(A) It is assumed to be present
and taken to be false

(B) It is assumed to be present
and taken to be true

(C) Itresultin asyntax error

(D) Execution will be terminated

The following program fragment in
PASCAL

If (a=0)

Written In ("a is zero");
else

Written In("a is not zero");
Result in the printing of
(A) ais zero

(B) ais not zero

(C) Nothing

(D) Garbage

548/w

[6]

21, A i 3 o 8 ) o

22.

23.

24.

25.

.- s g far Fer &
(A) SOUND

(B) PLAY

(C) i (A) ed (B)

(D) & A BIE &

e § o b 2-

(A) SIN

(8) COS

(C) TAN

(D) IWR<H TH

7 & B a1 3ReR Faet oo R
@ o &-

(A} +

(B) *

(€) /

(D) %

BR U A afe ord A & e-

(A) T8 w1 o & 5 Alsm g sk o

T o feren 2
(B) T A T & R vt @ ok W
o forar & .
(C) st uRomw agw T AR A &
(D) = warE & s

ureser # FmfoRas drom & s
If (a=0)

Written In ("a is zero");

else

Written In("a is not zero");
fife # oo &

(A) ais zero

(B) ais not zero

(C) P& =&

(D) TRes
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26. Choose the correct statement: 26. @ Reie o 707 B
(A) Zero represent a false condi- (A) T vw gt ferfy qufdh &
tion (B) R g 7F v g Refr e
g
(C) ve g Rufty zoifar
(D) 3 o W v & &, @ g

(B) Non zero value represent a
false condition
(C) 1 represent a false condition

(D) Any thing thatis not 1, repré-

sent a false condition Feafer zartct &
27. Choose correct answer: 27. W& IR -
(A) For loops can be nested (A) ®R U IR & Fad &
(B) Nested for loop can't use the (B) RS BR W PO Few dRvaw
& I AE B FHd

same index variable

(C) S BR FY 3R A T8l & qBel

(C) Nested for loop can't overlap

(D) Both (A) and (C) (D) & (A) & (C)
28. The permament passing mecha- 28. l’ﬁ’ﬂiﬁf@?ﬂ'ﬁ?fmﬁﬂﬁﬂi
nism for an array is: (A) $lcT a1 aﬁl

(A) Call by value -
(B) @@ 913 deg: e
(B) Call by value-repeat

(C) ofe a5 R
(C) Call by reference
(D) None of these (D) & & IS e
29. How many bit are absolutely nec- 29. ASCII F@X & Wifed & & foe
essary to store an ASCII charac- oy fac 3w &
ters? (A) 7
(A) 7 (B) 8
(B) 8
(C) 16
(C) 16
(D) 15
(D) 15 |
548/W 71 P.T.O.
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31.

3z,

33.
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a<<1 is equivalent to:
(A) multiplying a by 2
(B) dividing a by 2
(C) adding 2 to a

(D) None of the above

Flowchart symbol () represent:

(A) On page connector

(B) Off page connector

(C) Pre;deﬁned process
(D) None of these

PASCAL is a-

(A} Low Level Language
(B) High Level Language
(C) Machine Level Language

(D) Object Oriented Language

Who is creater of the PASCAL

Language?
(A) Dijkstra
(B) Basic Pascal
(C) Niklaus Wirth

(D) Donald Knuth

548/w

30. a<<l & WK &
(A) A® 2% o
(B) 2R} AH wm
(C) 2@ A ¥ FE
(D) 5 & &3 TA
31. worere s () qefar &
(A) 3 ¥ FAFRR
(B) 3Mb VS FATR
(C) W@ FefRa wfgsar
(D) ¥ & 3§ 7@

32. PASCAL T&% -

(A) o S W

(B) ¥T% oaer wrar

(C) w9 Aaer wrer

(D) siigaiee 3Ra=s wmr

33. PASCAL wreT & fmfar &b &7

(A) Famer
(B) s e

(C) Froeita faef
(D) ¥res qu
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(o)

37.
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Which of the following is not a
PASCAL data type?

(A) Real

(B) Char

(C) Float

(D) Integer

Which of the following is a program-
ming language?

(A) PASCAL

(B) CPL

(C) BCPL

(D) Ail the above

. In the late 1970's PASCAL Inven-

tor designed the languagg spe
cifically for-

(A)
(B)

high speed computers
teaching programing to stu-
dents

(C) use on any type of operating
system

(D) helping market IBM personal
computers

In PASCAL Language, area is cal-
culated as- |

(A) 100 Area = width * length
(B) Area = width * height

(C) Area = width * length

(D) Length 100 = area * 20 width

548/W

)|

34, I ¥ B AT UGB 5T TBR TE 22

35.

36.

37.

(A) daw

(B) &RTX

(C) Wi

(D) TR

T4 | D @ amfi sy @2
(A) PASCAL

(B) CPL

(C) BCPL

(D) IRIE TN

1970 & 314 W, UIa NfIBRe 3 ey
w0 ¥ W & fore e -
(A) o Tfer SRR

(B) Tl & wruf feror

(C) &5 f R & srfEn Rew

T 39T
(D) IBM THAe $RgeX &I RIGIRD

Hod

YR W # & & 9 ¥ AR B
T &

(A) 100 &6e = ©RE * TWE
(B) &aww = digr * Fad

(C) daww = digw * g
(D) waTé 100 = &vpat * 20 dheré

P.TI o.
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38. Name given by a programer to any
particular data is classified as-
(A) identifier
(B) identification
(C) exponent
(D) mantissa
39. In PASCAL language, each students -
end with a-
(A) comma
(B) semicolon
(C) double quotation marks
- (D) single quotation marks
40. In PASCAL programming symboi : =
is used for-
(A) base
(B) coefficient
(C) reference
(D) assignment
41. What is difference between a dec-
laration and a definition of a vari-
able?
(A) Thereis no difference between
them
- (B) Both can occur muitiple times,
but a declaration must occur
first
(C) A definition occurs once, but a
declaration may occur many
times
(D) A declaration occur once but
definition occur many times
548/wW
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38. ﬁ?ﬁrmmf&ﬁﬁﬁmwﬁ

39.

40.

41.

aiiigd faar Tar [m-
(A) SMEFEABra]
(B) IMESAGIHTT
(C) wicures

(D) st

YRS HINT ¥ §AS REA=E &l 3 BT
2.

(A) @&

(8) IAftETH

(C) =ad @ fus

(D) Rifie % fre

grae s ¥ fem = & fre wanr
f&ar smar @2
(A) a9

(B) Turs
(C) Re=

(D) TSI
IRvaa & feaerem 3k Reshes § aar
IR &2

(A) 30 &9 B =R 7 2

(B) 3l ¢ aR & wWaxl & W U
foaeRent vent & ifewt

(C) %%mﬁmmmﬁ:ﬁqﬁ
e 7 aR & wom &

(D) u fedeRe™ v AR & W
eaher o o ot wast &1
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42. Which one of the following is not a 42. frega § o du smidierr a8 ¥
valid identifier- (A) Bignumb
er
(A) Big number

(B) and (B) and
(C) ge227 (C) g4227
(D) N (D) N
43. Which one of the following is not 43. fFrafafea & o @ du dua srR=
valid real constant- J& 8- https:/www.rmlauonline.com
(A) .5 (A) .5
(8) 1.0 (B) 1.0
(C) -0.5678 (C) -0.5678
(D} S800.0 (D) 5800.0
44. Which one of is valid real constant 44, F@gUdH= (exponent) B & iF AT
in exponent form- de1 JTe HrEET &
(A) 132.E8 (A) 152.E8
(B) 125*EQ (B) 125*%ESQ
(C) +145.8E (C) +145.8E .
(D) 152.0E8 (D) 152.0E8 _
45. What is the valid range of number 45. = 3T (Short Int) 2T 2130 & fore
for short int type of data? T F) 3y S Far 27
(A) 0O to 256 (A) 0 to 256
(B) -128 to 127 (B) -128 to 127
(C) -32768 to 32767 (C) -32768 to 32767
(D) None of these (D) 30 4 B 7l
46. Character constant should be en- 46. URBH § NG PFECC & qrd |
closed between- arr afge?
(A) Single quotes (A) Fefie ®ica
(B) Double quotes (B) & BIcH |
(C) Both (A) and (B) (C) 3 (A) 3R (B)
(D) None of these (D) T | &I e
548/W [11] P.T.O.
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49,

50.

51.
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In PASCAL string constant should
be enclosed between-

(A) Single quotes

(B) Double quotes

(C) Both (A) and (B)

(D) None of these

Input statement is represented in
PASCAL programming by-

(A) READ

(B) READLN

(C) PRINT

(D) Both (A) and (B)

OQutput statement is represented in
PASCAL programming by-

(A} WRITE

(B) SYSTEM.OUT .

(C) SYSTEM.OUT.PRINTLN

(D) None of these

Set type constant is:

(A) Setof (A, E, 1,0, U)

(B) String

(C) Pointer type

(D) None of these

PASCAL Data type can be catego-
rized as:

(A) Scalar

(B) Pointer

(C) Structured data type

(D) All of the above

548/wW

48.

49,

50.

51.

(B) 3 BH
(c) 3 (A) 3R (B)

(D) ¥ ¥ B el

UG MUTHT § 599 RWeR< &
yiafaftre far swar 21

(A) READ

(B) READLN

(C) PRINT

(D) @M1 (A) 3R (B)
TREE T # 33eqe Rele &7
viaffire faar smar &

(A) WRITE

(B) SYSTEM.OUT

(C) SYSTEM.OUT.PRINTLN
(D) 1% ¥ 35 TEi

AT THRY FT -

(A) |T 35 (A, E, I, O, U)
(B) wgw

(C) dWigex TRy

(D) ¥H @ o 7

AT ST TRY BN $W NI g fpaT
I WHar &-

(A) W

(B) digex |
(C) %@ swer ey
(D) 3Rwm )

https://www.rmlauonline.com
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53.

54.

55.
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The manner in which the data is

presented to application program-
mer on the users of the data is re-
ferred to as:

(A) Physical data description

(B) File

(C) Logical data description

(D) Field

PASCAL Language is available for
which of the following operating
system?

(A) DOS

(B) Window

(C) Unix

(D) All the above

The meaning of conversion char-
acter for data input is:

(A) Data item is long integer

(B) Data item is a unsigned integer
(C) Data item is short integer
(D) None of the above

The number of the relational op-
erators in PASCAL language is:

(A) 4

(B) 6

(C) 3

(D) 1

548/W

52.

53.

54.

55.

fe 7% A 2o ¥ TR W e

SR # s1eT sege fsar sar @ 3@ g

w7 ¥ walifq far s &

(A) Tl 21 aofq

(B) wrga

(C) ofds a1 avfH

(D) fbes
Frafoiea sitRfen Rrew & fore aveer
WTST Juerer &-

(A) 29

(8) fasr

(C) g«

(D) IR |

321 57qe & fore wuTIROT HXFTR BT ek
-3

(A) 22T 3mgen @i 3feax &

(B) 32T 3MFTH SFRIES FFeox &
(C) e 3msew e 3feaR &

(D) ¥ & I &l

TG W ¥ ReteEd JmeR B T
2

(A) 4

(B) 6

(C) 3

(D) 1

P.T.O.
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56. The number of Boolean operators

in PASCAL language is:
(A) Three

(B) Four

(C) Five

(D) Six

57. The number of Bitwise operators

in PASCAL language:
(A) Four

(B) Six

(C) Three

(D) Eight

. An expression contain retations

un
o4}

assignment and arithmetic oo
tors. If arenthesis are rot vren-g
the order will be:
(A) Assignment, arithimetic, el
tionai
(B) Relational, arithmetic, assign-
ment
(C) Assignment, relational, arith-
metic
(D) Arithmetic, relational, assign-
ment
59. integer x:= 2*3 + 4*5 what value

will x contain in the sample code
. above:

(A) 22
(B) 26
(C) 46
(D) 50

548/W

56. WG MW & o 3TRER &) way
&
(A) da=
(B) IR
(C) W™
(D) &

57. G s ¥ Rearss 3R @ weEy
3.
(A) TR
(B) @
(C) a9
(D)
58, vh svafe ¥ Rewee et 3k

SBTVE JTReR wfHer & aft mw
(aRAfE) wisE =& &, & ww -
(A) TR, siwfor, Revem
(B) Retora, s, wanie

(C) vargmie, Retemer, sidufdr

(D) s, Rerere, vagTie
59. B3I x 1= 2*3 4+ 4*5

IR [ ) dva s & x & A @

(A) 22

(B) 26

(C) 46

(D) 50

https://www.rmlauonline.com
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60.

61.

63.
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PASCAL support how many deci-
sion making statements:

(A)
(B)
(©)
(D)
If then-else statement consist of:

(A)

Four
Five
Six

Seven

Which execute when boolean
expression is one
(B) Which execute when boolean
expression is two
(C) Which execute when boolean
expression is false

None of above

(D)

. Case statements allows:

(A) a variable to be trusted for
equality against a list of value

(B) a variable to be trusted for
equality against single value

(C) which execute when boolean
expression is false

(D) None of above

The process of sending output to a

device other than the display is

called:

(A) Choice

(B) Redirection

(C) Preference

(D) Selection

548 /W

60.

62,

63.

(15]

mwa § fean Rfvsm afen i<
g 8-

(A) TR

(B) dfa

(C) &

(D) W .

. 35-33-Ue9 (If then-else) RTA<T

g &

(A) I8 gform aifSraates 1 & e Frafee
am

(B) v gfora= siiraafts 2 & qe Frenfea
am

(C) s gferaw fraats Tod @ a9
e g

(D) 3 | BIg &l

&9 el sy g &

(A) ' deg @) g & Raams o
Riofaa N gwwar & foe aRkeor
fear

(8) ©a Niffrer 30 & Raene ve defeer
@ Tarar & fore aReor fsar sm=r

(C) = gferaa Afirafs wea 2 a&
e @

(D) T | BIF T&

frea & smEr 3 fedr Gaga ot

ISTYE WS B ARE B B I ©

(A) Fo@ea

(B) gAfFRH

(C) B

(D) ¥

P.T.O.
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64. In which type of the loop, in the

65.

(23}
a)]

67.

inner loop is executed completely
of every execution of the outer
loop:

(A) Do-while

(B) Repeat-until

(C) Nested

(D) For

Name the statement supported by
PASCAL to branch unconditionaily
from one step to another in the
program:

(A) Break

(B) Goto

(C) 'Loc.)p

(D) Continue

. What should be the expression re-

turn value for a do-while to termi-
nate:

(A) 1

(B) O

(C) -1

(D) NULL

Which is the following loop control
statements:

(A) Break

(B) Continue

(C) Goto

(D) Ali the above |

548/W

64. TEX YU & TS T ¥ @ wmm

65.

66.

67.

Frenfea & 7€ TR ¥ 9 R &
qu # AP

(A) Do-while

(B) Repeat-until

(C) Nested

(D) For

UGB # 39 Reh< & 9 3 i &
SrY & A o a_vr § g TROT e
3 : .

(A)

(B) g

(C) @

(D) B .

&ase B TAE B S fow sfiafe
& Rest &g aan @1 wifge

(A) 1

(B) 0

(€ -1

(D) B© &
feraferiRaa & @9 @ oqu P Rede
3

(A) 3&

(B) &=
(C) Mg,
(D) IRIB IW
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68.

69.

70.

71.
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PASCAL support how many basic

looping constructs

(A) 2

(B) 3

(C) 4

(D) 7

Continue statement is used:

(A) To go to the ment iteration in
a loop

(B) Come out of loop

(C) Exit and return to main func-
tion

(D) Restarts in.teration from
begining of loop

The operator! falls under the cat-

egory of operators:

(A) Conditional

(B) Unary

(C) Boolean

(D) Bitwise

The continue command can not be

used with:

(A) for

(B) repeat-until

(C) Switch

(D) while

548/W

68. WS (PASCAL) THH # foas dfes

69.

70.

71.

afT @1 femfor g &-

(A) 2

(B) 3

(C) 4

(D) 7

BRIR] Wed< @l I fea s

&

(A) @ & el WO ¥ I F e

(B) U ¥ TR AW

(C) ¥R vd g BeeH R Resd

(D) |9 T LEIT | gA: AR
LRI

IR | 3TaRe) B Aol & senfa amar

3

(A) FIEEA

(B) ZT

(€) gfera=

(D) facamgst

B HAVS & W TGN & b

ST | 8-

(A) BR (for)

(B8) tfig-3@fed (repeat-until)

(C) Raw (Switch) |

(D) @A (while)

P.T.0.
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72.

73.

74.

75.

76,
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A link is:

(A) a compiler

(B) an active debegger
(C) a pascal interpreter

(D) an analyzing tool in pascal

Which of the following scalar data |

type:

(A) Enumerated

(B) Subarrange

(C) Real

(D) All the above

Which of the following structured
data type:

(A) Record

(B) Boolean

(C) Subrange

(b) None of these

When will a while do loop gets ter-
minate:

(A) When given condition is true
(B) When given condition is false
(C) Depend upon other factor
(D) None of these

Where while-do loop condition is
place?

(A) At top

(B) At bottom

(C) Inmiddie

(D) No where

548/w

72. b foid &

73.

74.

75.

76.

(A) P HHEEAR
(B) ve wfpa Rewx

(C) TP URDBA FTI

(D) URGA ¥ U IUDHROT BT fagagor
Frer % @t 1 WeR 37 ey &
(A) sRes

(B) TR

(C) o

(D) IRE |

Fe= & o o waws 31 amu &
(A) Raré

(8) gfera

(C) wad=

(D) & 9 B 7

39 P g WA 8-

(A) "AW ol v a

(B) 39 < 78 ¥ Tea &

(C) 3 RS W fnflk

(D) 3% 9 3§ &

-3 4 o e R AR 2
(A) farge <f

(B) facper afew

(C) wem #

(D) &I &
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77.

78.

79.

80.

81.
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Which one of the following provides
conceptual supports for calls?

(A) The system stack

(B) The data segment

(C) The processor registers

(D) The heap

What is process of argument
matching called:

(A) Disambiguation

(B) Static binding

(C) Function's signature

(D) Static linking

Which of the following are not re-
served words in PASCAL:

(A) and

(B) mod

(C) packed

(D) None of these

Integer division resultin:

(A) rounding

(B) trunction

(C) overflow

(D) None of above

The Bitwise AND is used for:

(A) masking

(B) comparision

(C) division

(D) shifting bits

548/W

77.

78.

79.

80.

B1.

R 3 & v a1 & e duiks sk

Yo T 2
(A) o Rrew ©
(B) @1 3 ;W=
(C) a1 =R Mo
(D) @&
a6 fam & afisar & & wa I
&
(A) agfaaedt
(B) fer aw
(C) GR™ gwER
(D) Fer fifen
= & @R | uree aRifeE T SE
&
(A) and
(B) mod
(C) packed
(D). 5 | ®¥ T
3feoR v & uRRomy #-
(A) THFET
(B) TR
(C) 3=
(D) ¥ & g T
fycarma AND & e v fman e 2-
(A) wifveT
(B) qe=m
(¢) fawrs=
(D) wariawr faew
P.T.O.
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82.

83.

84.

85.

86.
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The Bitwise OR is used for:

(A) set the desired bit to 1

(B) multiply numbers

(C) divide numbers

(D) set the desired bitto 0

The bitwise XOR is use to:

(A) Complement of desired bit
(B) Multiply the mumbers

(C) Divide the numbers

(D) Mask the bits

The statement in a program are
executed:

(A) out of order

(B) inthe order

(C) both the above

(Dj None of the ahove

Ifa =100 and b = 200 ther which
branch of if(a>100)
ment get executed:
(A) if-then

(B) If-then-else

(C) Both

(D) Nested

Which is the advantage of using

state-

function in a program?
(A) Function make the program
run faster

(B) Function make the program
complex

(€)

Function make the program
reusable

(D)

None of these

548/W

82. facargw OR & fow wam e rer -

83.

84.

86.

[20]

5. Ifa =

(A) 3ftma fee & 1 W) e &

(B) wemit # qom

(C) Hami &

(D) 3Rea fde & 0 ) Je &

feeasa XOR & A fovan Fmar @-

(A) difsq fie & W&

(B) mAl @1 Ion

(C) wamit &1 s

(D) WP a1 e

o § Rede Fanfea 27 &

(A) 33 P MR

(B) &9 a1 MR

(C) IR=H =)

(D) 3 ¥ B

100 3R b = 200 a7 & 4T

A= ¥ if(a>100)......... weie Prafeg

far -

(A) if-then

(B) If-then-else

(C)

(D) I3

e # GaeE & 399 &1 A &

(A) GaeE U & e O axar
(]

(B) %R WU & STy §91d1
g

(C) WaeH SIUM B T7: ST &g S
&

(D) &1 9 B 78
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87.

88.

89.

90.

91.
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Which details is not included in the
signature of a function?

(A) Number of parameter

(B) Name of the function

(C) Types of parameter

(D) Return type of the function
How many functions can be there
in @ program?

(A) At least one

(B) As many as required

(C) Practical there is no limit

(D) All of the above

A function with no action:
(A)
(B)
(C)

Is an invalid function
Produces syntax error

Is allowed and is known as
dummy function

(D) Return zero
Function have:
(A) File scope
(B) Local scope

~ (C) Block scope

(D) Function scope

Choose the correct statement:

(A) Use of goto enhances the logi-
cal clarity of the code

(B)

Use of goto makes the
debegging task easier
(C) Useé goto when you want to

jump out of a nested loop

Never use goto

(D)

548/W

87. 3l AR b & ewmar & wnfirer =)

88.

89.

90.

91.

[21)

fasar mar-

(A) tefe & e

(B) Whae™ &1 9M

(C AR & TR

(D) waEm o Red 2y

R oo ¥ e S @ v §

(A) &9 & &H 0P

(B) JEvuHATTER fSa=n smavasm
&

(C) TER® w7 & B o1 78 &

(D) 3% q+

U BaE & 9y B fsan 8-

(A) UF UG Hae &

(B) Ridew FfE aow wwar

(C) argAfy & vd ot haeT & w9 A
FHT AT &

(D) Red g

Baw -

(A) ©IEeT B

(B didd Y

(C) =T DY

(D) GEeN &Y

TR RTAT B T4 IR

(A) Mg @1 I HIe Bt aATldan
TATEYAT B T

(B) e T 390N Srafin & &Y 3

& &

(C) 79 ARE U W P& UIEd & a9
T HT YA IS &

(D) g, &1 JaA HW T B &

P.T.O.
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92.

93.

94.

95.
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Which is true of conditional compi-
lation? |

(A) Itistaken care of by the com-
piler

(B) It is compiling a program
based on a condition

(C) It is taken care a program by
the pre-processor

(D) Both (B) and (C)

The minimum number of tempo-
rary variable needed to swap the
content of two variables is.

(A) 1

(B) 2

(C) 3

(D) ¢

Let a, b be positive integer which
of the following options correctly
relaters / and %:

(A) b= (a/b) *b + a%b

(B) a=(a/b)*b + a%b

(C) b= (a%b) *b + a/b

(D) a=(a%b)*b + a/b

Literals means:

(A) Astring

(B) A string constant

(C) A character

(D) Analphabet

548/W

(221

92. aﬁmﬁﬁaﬁ%%&ﬁﬁm?

93.

94,

95.

(A) U8 W&o TR & TG ST
2

(B) UEUH &S & MUK R T U
HaeH & '

(C) 4 . YRR g1 U& Wum &1
S Il &

(D) @ (B) & (C)

 Hefser B seer-vac v & fe

aevas Hiefsa H gaaw dan &
(A) 1

(B) 2

(C) 3 .

(D) o

AT a B4 b THRIHS QUiles & fr i &
ot w& e / 31k % R etk -

(A) b= (a/b)*b + a%b
(B) a=(a/b)*b +a%b
(C) b= (a%b) *b + a/b
(D) a = (a%b) *b + a/b
forexer o anf &-

(A) s fgm

(B) s fEw s=at<
(C) T BRae

(D) TP 3IEHET
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96. Length of the string 'correct' is: 96. 'correct' Rgw & wwrg 2
(A) 7 (A) 7
(B) 8 (B) 8
(C) 6 (C) 6
(D) Implementation on dependent (D) SriTd W) R
97. If y is of integer type the expres- 97. aft y quffs weR sfvafe &

sions 3 * (y-8) /9 and (y-8) /9*3

(A)

3 * (y-8) /9.Wd (y-8) /9*3

Must yield the same value (A) §AH HH B 39T BT

(B) Must yield different values (B) 39AM HIF & 3qF BT
(C) May or may not yield the same (C) 99H HF & 34F 4 &R g&dl &
value 7 8 off IR T §
(D) None of the above (D) T I B &
98. BASIC stand for: 98. BASIC ?%‘5"\‘[ BIR-
(A) Beginners All purpose sym-

(B)
(C)

(A) Rt ara-wus Rmefas o
(B) fafirsf ane Romeifers @ig

(C) fefirm< smer wum Redlfers g
bolic coding (D) A o ReiRe sHerRATe

bolic code
Beginners All symbolic code

Beginners All burpose sym-

(D) Beginners All symbolic infor-
mation code L2
99. BASICis a: 99. sf¥&® (BASIC) TS &
(A) High level language (A) ET$ ofaeT HIE
(B) Low Level language (B) @ &gl W
(C) Machine level language (C) “'Qﬁq GER W
(D) None of these (D) 54 ¥ ﬁgﬁﬁ ,
100.BASIC is developed in: 100.37%& (BASIC) ey
A) 1960
(A) 1960 https://www.rmlauonline.com (A)
(B) 1964 Whatsapp @ 9300930012 (B) 1964
Send your old paper & get 10/- (C) 1968
(C) 1968  yuy quar dudr fa 3tk 10 wudr
(D) 1972 Paytm or Google Pay # (D) 1972
[23] P.T.O.

548/W

https://www.rmlauonline.com

WO duI[uONe[WI MMM //:sdny



